Ling

select (v, ):=||len < length (v) r2(b,e):=|if b>e
fOI"n € O..len—l return O
out <" (v ) kw0
; forneb..e
gu outk<—b+k
select2 (v Ak ) :=||len < length (v) k—k+1
forne0..len—1 out
out «° (v ,n)
out foreach(v,"):=select(v, ")
selectmany (v, ‘):: len < length (v) repeat (t,c) i=|[forne0..c—1
out —0 Hout —t
forne0..len—1 ” i
tmp«—" (’U ) out

if IsArray (out)
H out — stack (out , tmp)

else
Hout<—tmp
out
where(v,‘):: len<—1ength(v) where2(v,‘):: len<—1ength(v)
[k n] [0 0] [k n]«[0 0]
out<+0 out<+0
while n<len while n<len
if‘(v) if‘(v ,n)
out <—v out «—v
k n k n
k—k+1 k—k+1
n—n+1 n—n+1
out out
v:=r2(0,10)
where(v,‘(m)<—m<4)T:[0 12 3] 0 6
1 7
‘<—where(v,‘(m)<—m>5) ={2 8
selectmany (select2(‘ N (:E,TL) — [n :1:]), ' (3:) <—a:) 3 9
4 10

repeat(2,3)T:[2 2 2]

TODO:

join(5), aggregate(2), aggregate(3), take(2), takewhile(2), takewhile2(2), skip(2), first(2), any(2), all
(2), contains(2), count(2), batch(2), batch(3), exclude(3), takeevery(2).
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dt:=1 N:=2" T:=N.dt Uo=1 df:=
N-dt
ul := foreach | r2 O,E—l ,‘(n)<—4.—n—2+0.2
4 N 2

u:= selectmany (repeat (ul ] 4) , (:1:) — :1:)

U:=augment (foreach, (7‘2 (0 ,IN— 1) I (n) —Te dt) ,u)
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S dft( ) G :=augment (foreach(r2 (0 N—l), (n) —n df) |§1)
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wl::2'—7T a::2-Re(i-S) b::—2-1m(i- )
N N N
u(t,n) = c<—f0reach(r2 (O,n), : (k)&ak-cos(k-wl-t))
s« foreach (r2 (0 ,n) o (k:) — bk .sin (k: cwl- t))
aO
—+ Zforeach,(rQ 1,n), (k)—c —I—s)
2 (1in), " (k) e, s, t:=0,dt..(N—1).dt
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